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X X

(1/3)

L 4=(f(x)=06x )

_ _ P
I=(f(x)=4x*+3x-1) 2=(f(x)=5x"=2) Vv
3=(f(x)=4x +3x +x-5) 4= f(x):§x4—§x2—§xj S

37 47 6 s
.5=(f(x)=3x—%+3«/;j '6:(f(x)=ﬁ+x(5/3)+x(”5)+x(3/5j __j’;c[__
No03 = 5 y . a
T=(f(x)=(-5+3x)(x*+2x+1)) 8=(f(x)=(x+4) (4x =5)) .
, (f x+2] P [f 3x°+4 5
- (x) 4 : (x) —ﬁ o
M
U
T

) 4| X+4
A2=|f(x)=(x"-4x") xT

3 4 S
d1=|flx)= Tt (5x°+2)

4
A=|f(x)=3x——"FT7=+34x,a=1
NoOd = [(x) X «/; xX,a }

5 3
2=[f(x)=4x" +3x +x—-5,a=-2]
O0/0:0:0:0:010:010:0:0:0:0.0:0.0.0:0.0.0.0.:0.0:0:0:0:0.:0.00.0'0:0.0:0.0.:0.0.:0.0.0.0.0.0.0.0.0.0.0.0.0.:0:0.0.0.0.0.0.0:0:0.0:0.0:0.0.0.0.0.0.0.0:0.0'0.0:0:0.0:0.0.0.0.0.0.0.0:0.0.0:0'0:0.0:0. 0.0
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Diff02 for No.12586
I=(f(x)=4x"+x+4)

2=(flx)=2x"-3)

M

No0l =

, No02 =

d=[f(x)=5x+4,a=3]

6
.2:|:f(x):;,a:1}

[0=2)
d=f(x)="—"
X
(1/3)
A4=(f(x)=6x

1
I

)

I d=(flx)=4x>+x+4) 2=(f(x)=2x"-3)

5. 4, 1
3=(f(x)=3x"-5x"-4x"-x) ,4:(f(x)25x5—§x2+ng

(1/6)  (5/6) 1

4 1
5= f(x)=ﬁ—3x+5ﬂ/; b= f(x)=x tX T e T 6 i
x x

8=(fx)=(x -2) (x= 1))
5x+3x3J

.10:(f(x):T
X

[=cv ]33]
A2=f(x)=3x +x) xj

No03 = 5 5
T=f(x)=2x" +2x+5)(3x"-3))
9—(f B x+4j
T (x)_Sx—3

4 5 5
d1=|flx)= T2 (2x°+3)

NCSX@FT~2 P

4
A=|f(x)=—7=-3x+54x,a=4
NoO4d — [(x) x X xX,a }

7 6 4
2=[f(x)=3x -5x —4x —-x,a=-2]
O0/0:0:0:0:010:010:0:0:0:0.0:0.0.0:0.0.0.0.:0.0:0:0:0:0.:0.00.0'0:0.0:0.0.:0.0.:0.0.0.0.0.0.0.0.0.0.0.0.0.:0:0.0.0.0.0.0.0:0:0.0:0.0:0.0.0.0.0.0.0.0:0.0'0.0:0:0.0:0.0.0.0.0.0.0.0:0.0.0:0'0:0.0:0. 0.0
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Diff02 for No.12677
I=(f(x)=2x"+x-75)

2=(flx)=4x"+5)

No0I = '3:(f(x):§)
X

(1/3)

d=[f(x)=2x-1,a=3]
_ 6
» No02 .2={f(x)=;,a=2}

M

| 4=(fx)=3x"") |
) ] P
I=(f(x)=2x"+x-5) 2=(flx)=4x"+5) y
3=(fx)=5x+2x*+45°-3x) .4=(f(x)=§x5+éx3—§x] g
.5:[f(x):%+5x—2«/;J .6=[f(x)= (11/5)+ (51/2) x(2/5)+x(5/2)J __i__
No03 = " ) * T o a
T=(fx)=(22+x-3) (2 +4)) 8=(f(x)=(/x =2) (x=5)) t
9_(f _5x—1j 10—l ¢ X +2x i
== sy A0={ =" @
1=ty =242 | (axs1 12—(1‘— 544[QD M
i = f(x)= x3+ S | (4x+1) A2=f(x)=(5x"+4x") e U
L LWLl

2
A=|f(x)=—F=+5x-24x,a=1
NolOd — [(x) 'J; X xX,a }

7 4 3
2=[f(x)=5x +2x +4x -3x,a=2]
O0/0:0:0:0:010:010:0:0:0:0.0:0.0.0:0.0.0.0.:0.0:0:0:0:0.:0.00.0'0:0.0:0.0.:0.0.:0.0.0.0.0.0.0.0.0.0.0.0.0.:0:0.0.0.0.0.0.0:0:0.0:0.0:0.0.0.0.0.0.0.0:0.0'0.0:0:0.0:0.0.0.0.0.0.0.0:0.0.0:0'0:0.0:0. 0.0
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Diff02 for No.13490
d=(f(x)=2x"+4x-1)

2=(flx)=3x"-2)
NoOI = '3:(f(x):§)
X

(1/3)

I=[f(x)=4x"+5,a=3]
_ 4
, »No02 .2=[ﬂx)=;;a=—3}

1
I

L 4=(f(x)=3x )
- , TP
d=(f(x)=2x"+4x-1) 2=(f(x)=3x"-2) v
3=(fx)=x"-2x"=3x+2) ,4:(f(x):lx3_lx2+§j S
3 2 4 LS ]
.5:(f(x)=3x+5«/7_%j -6=(f(x): (41/5)+ (11/5)+X(5/4)+ﬁ] __j’;__
No03 = ) 7 * * * o a
T=(f(x)=(4x>+5x) (X’ +5x-2)) 8=(f(x)=(x=5) (4x +4)) )
9:(f(x): i j Joz{f(x):M h
' 4x-5 ‘ ﬁ @
M
U
T

.]]:(f(x):{%+%j(4x+ 1)j .]2:(f(x):(4x5—5x3) :iD

A -
A=f(x)=3x+54x-—"T=,a=1
No04 = Al X ]

6 3
2=[fx)=x"-2x"-3x+2,a=2]
POV 0000000000 0000000000000 0:00:0:0.00:0:00:0:0.00.0:00:0:0:00.0:0:0:0:0:0:0 0000000000000 000000 0:0:0:0:0:0:0:00:0:0:0:0:0:0:0:0:0:0:0:0:4
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Diff02 for No.13500
L I=(fx)=x+4x—2)]
2=(f(x)=5x"-4) I=[f(x)=3x"-5,a=6]
NoOT = .3:(f(x):£) o o Ne02=) -, f(x):%,azl
X X
4=(fx)=4/x) |

2=(f(x)=5x"-4)
1, 45 2
Ad=f(x)="x"+"x" -7
2 3 3
1 1 (1/5)] )

(5/4)
TG T s TX
X X

I
L
L

| d=(fx)=x"+4x-2)

1
1

NS~ XU

3=(f(x)=4x"-x"=2x*-x)

.5:(1‘@):%—2«/?%% .6={f(x)=x

§=(fx)=(x-3) (x - 5))

10 [f( ) X +3x
. = X)=—"
Vx

3 x—=5
A2=|f(x)=(x +4x) 13

No03 = ) )
T=(f(x)=(x"+x-2)(4x " +4x))

9_(f _—1+3xj

I= =370

3 2) ,
M =| M0 =| T+ (P44

3
oo .]:[f(x):ﬁ—2ﬁ+5x,a:1}

74 2
2=[f(x)=4x —x" -2x" —x,a=2]
O0/0:0:0:0:0:0:010.010:0:0.00.0.0.0.0.0.0.:0.0:0:0:0:0.0.0.0.0'0:0.0:0.0.:0.0.:0.0.:0.0.0.0.0.0.0.0.0.0.0.:0:0.0.0.0.0.0.0:0:0.0:0.0.0.0.0.0.0.0.0.0:0.0'0.0:0:0.0:0.0.0.0.0.0.0.0.0.0.0:0'0:0.0:0. 0.0
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Diff02 for No.13637
_ , -
A=(f(x)=3x"+2x-5)
3
2=(f(x)=6x"+1)

4
.3=(ﬂx):;) ’

4=(fx)=3x""")

d=[f(x)=3x"+5a=3]

_ 6
No01 .2=[f(x)=—2,a=—2}
X

, No02 =

1
1
1
|
I
|

_ i P

I=(f(x)=3x"+2x-5) 2=(f(x)=6x"+1) Vv

1 2 3 S

B=(fx)=x"+5x"+4x +3x ,4:(f :—5_—4_—3]
(f(x)=x"+5x +4x +3x7) (x) Sx 3x 5x s
5 1 231 (3/2) &
.5=£ﬂx)=2x—;f=—3v5) .6=(ﬂx)=—637+x o tX INYal
X X X

No03 = ) , s a

T=(f(x)=(2+4x+3)(=3+3x)) 8=(f(x)=(/x =5) (x=2)) t

9 (ﬂ) 3+5xj 10=| ) 2+5x i

UMY T Ssasx '_x_ﬁ @

S 4 5 5 2 | X=5 M

_ 1= f(x)= St (1+42x) A2={ )= (32" +4x) | U
LT

.]:[ﬂx%:g+5x@+4f+3xaa:2]
No04 = 5
¢ .2=[f(x)=2x———3«/;,a:1}
Jx
IVCICHIND 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.:0.0.0.0.0.0.0.0:0.0.0.0.9.0:0.0:9.0.9.0:9.0:9.0:0.0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0.0:0.0.0.9.0.0.0.0.0.9.0.0.0.0.0.0.¢
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Diff02 for No.14015
d=(f(x)=x"-2x-3)
d=[f(x)=3x-2,a=5]

2=(flx)=6x"+5)
NoOI = ( 5)
I=f(x)=—"
X

A=(fx)=54x) |
2=(fx)=6x+5) |
4_(f 11, z)
4= (x)—4x —2x +4x I
5 1 1 (4/5) 1
S=|1f(x)= x—3x—T b6=|1f(x)= @t e TX +~ 05 r
X x x X
No03 = ) )
T=(fx)=(4x +5x)(5x+4x+2)) .8:(ﬂx):(J;+3)(x+2))
, (f() 4—5xj P (f() 1+4x5j
9=11(x)= A0=|f(x)=
I

2x+1
4 1 4 ) a | X
A= 1f(x)= ;;+;‘(2x +3) A2=f(x)=(5x"-2x") 13

5
No04 = {(x) R }

6, 4 3
2=[f(x)=2x+x"+2x —x,a=2]
O0/0:0:0:0:0:0:010.010:0:0.00.0.0.0.0.0.0.:0.0:0:0:0:0.0.0.0.0'0:0.0:0.0.:0.0.:0.0.:0.0.0.0.0.0.0.0.0.0.0.:0:0.0.0.0.0.0.0:0:0.0:0.0.0.0.0.0.0.0.0.0:0.0'0.0:0:0.0:0.0.0.0.0.0.0.0.0.0.0:0'0:0.0:0. 0.0

2 = 4
, »Nol ‘Z:Z[f(x):f_;’a::-3
X

1
1
|
I

| dI=(f(x)=x"-2x-3)

[
L
L

3=(f(x)=2x+x"+2x -x)

NQRKE@FT~3 XK
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